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QUESTION 1

An operator wishes to verify end-to-end connectivity for an individual service. What utility will he or she most likely use? 

A. sdp-ping 

B. Isp-ping 

C. svc-ping 

D. sdp-mtu 

Correct Answer: C 

 

QUESTION 2

Click on the exhibit button below. 

Assuming the customer only needs to monitor traffic from PE3 to the customer site, what two items are missing in the
configuration of PE5, the Nokia 7750 Service Router in the Head Office? (Assume that the IP/MPLS network structure
between the local and remote PEs is in place.) (Choose two.) 

A. The mirror destination configuration on PE5 is missing the "remote-source" command. 

B. There needs to be a mirror source configuration on PE5 with the "remote-source" command. 

C. This is not possible since the protocol analyzer is located at the Central Office. It needs to be at the customer site. 
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D. There needs to be a configuration command to put sap 1/1/3 on the mirror destination of PE5. 

E. There needs to be a configuration command to put sap 1/1/3 on the mirror source of PE5 

Correct Answer: AD 

 

QUESTION 3

3 E-pipe services and 2 VPLS services have been configured between two PE routers. How many service labels will be
signaled in total? 

A. 2 

B. 3 

C. 4 

D. 5 

E. 6 

F. 10 

Correct Answer: F 

 

QUESTION 4

What Nokia 7750 SR OAM tool can be used to verify the end-to-end connectivity of a service? 

A. Sdp-ping 

B. Isp-ping 

C. Svc-ping 

D. Sdp-mtu 

Correct Answer: C 

 

QUESTION 5

Which of the following best describes an SDP? 

A. Acts as a logical way to direct traffic from one SAP to another on a single node. 

B. Acts as a logical way to direct traffic from one service to another on a single node. 

C. Acts as a logical way to direct traffic from one access port to another. 

D. Acts as a logical way to direct traffic from services on one router to services on another. 
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Correct Answer: D 
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